Math 72: Selected Review Chapters 3-4

1) Given the equation gx - -:-y = g—
a. Find the x-intercept(s)
b. Find the y-intercept(s)
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¢. Graph the equation.
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2) Given the system of equations 3
y= '—;x +11
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Solve the system by graphing. !
What is the special relationship between these two graphs?
Solve the system by substitution.
Solve the system by elimination.
3x—-2y+z=-11
3) Solvethe system {-—-Sx +3y—-2z=16
2x—5y+3z=9
4) Astore sells tents, sleeping bags, and camp stools. A customer buys a tent, 5 sleeping bags, and 3
camp stools for $263. The price of the tent is 6 times the cost of a camp stool. The cost of a sleeping
bag is $33 more than the cost of a camp stool. Find the cost of each item.
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